


2X

0.4 pc

t= 0.02 Myr

2y

t= 0.02 Myr

2z

0.4 pc

t= 0.02 Myr



3x

b,

0.2 pc

t= 0.11 Myr

3y

0.2 pc

t= 0.11 Myr

3z

0.2 pc

i

t= 0.11 Myr



4x

-

0.2 pc

t= 0.11 Myr

Y

s

B% pc t= 0.11 Myr

4z

0.2 pc

i

t= 0.11 Myr



5x

t= 0.13 Myr

-‘
0.2 pc t= 0.13 d/ﬂ 0-2 pc t= 0.13 Myr




6Xx

0.2 pc

.

t= 0.13 Myr

6y

0.2 pc

)

- A

t= 0.13 Myr

6z

0.2 pc

t= 0.13 Myr



8x

0.2 pc

t= 0.15 Myr

8y

0.2 pc

t= 0.15 Myr

8z

0.2 pc

t= 0.15 Myr



9x

0.2 pc

t= 0.17 Myr

9y

0.2 pc

t= 0.17 Myr

9z

0.2 pc

t= 0.17 Myr



10x

0.2 pc

Yo

t= 0.17 Myr

10y

0.2 pc

t= 0.17 Myr

10z

0.2 pc

t= 0.17 Myr



11x

0.2 pc

Yo

t= 0.17 Myr

1ly

0.2 pc

£

t= 0.17 Myr

11z

0.2 pc

t= 0.17 Myr



12x

0.2 pc

t= 0.20 Myr

12y

0.2 pc

t= 0.20 Myr

12z

0.2 pc

t= 0.20 Myr



13x

t= 0.20 Myr

13y

0.2 pc

t= 0.20 Myr

13z

0.2 pc

t= 0.20 Myr



14x

0.2 pc

t= 0.20 Myr

14y

0.2 pc

t= 0.20 Myr

14z

0.2 pc

t= 0.20 Myr



15x

0.2 pc

t= 0.22 Myr

15y

0.2 pc

@

t= 0.22 Myr

15z

A"'f\

0.2 pc

t= 0.22 Myr



16x 16y 16z

t= 0.22 Myr t= 0.22 Myr t= 0.22 Myr



17x

0.2 pc

17y

0.2 pc

t= 0.22 Myr

0.2 pc

t= 0.22 Myr




18x

0.2 pc

t= 0.24 Myr

18y

0.2 pc

t= 0.24 Myr

18z

0.2 pc

t= 0.24 Myr



19x

0.4 pc

t= 0.24 Myr

19y

0.4 pc

t=\ 0.24“

19z

0.4 pc

,f’ij 0.24 Myr



PA0)

0.2 pc

t= 0.24 Myr

20y

0-Ac t= 0.24 Myr

20z

0.2 pc

t= 0.24 Myr



23x

L

0.2 pe t= 0.24 Myr

23y

0.2 pc

t= 0.24 Myr

23z

0.2 pc

a

t= 0.24 Myr



24x

0.2 pe t= 0.24 Myr

24y

0.2 pc

t= 0.24 Myr

24z

0.2 pc

t= 0.24 Myr



25x

0.2 pc

t= 0.24 Myr

25y

0.2 pc

t= 0.24 Myr

25z

0.2 pc

t= 0.24 Myr



26X 26y 26z

0.2 pc

0.278¢ t= 0.26 Myr

t= 0.26 Myr t= 0.26 Myr




27X

t= 0.30 Myr

A

0.2 pc

t= 0.30 Myr

27z

0.2 pc

t= 0.30 Myr



28x

0.2 pc

t= 0.30 Myr

28y

0.2 pc

t= 0.30 Myr

28z

0.2 pc

t= 0.30 Myr



PAS)

0.2 pc

t= 0.30 Myr

29y

0.2 pc

t= 0.30 Myr

PASY A

0.2 pc

t= 0.30 Myr



30x

0.2 pc

t= 0.30 Myr

30y

0.2 pc

t= 0.30 Myr

30z

0.2 pc

t= 0.30 Myr



31x

‘ 0.2 pc

t = 0.30 Myr

3ly

0.2 pc

t= 0.30 Myr

31z

0.2 pc

t= 0.30 Myr



32x

0.4 pc

t= 0.33 Myr

32y

0.4 pc

t= 0.33 Myr

32z

0.4 pc

t= 0.33 Myr



33x

0.2 pc

t= 0.33 Myr

33y

0.2 pc

t= 0.33 Myr

33z

0.2 pc

t= 0.33 Myr



35x

S

0.2 pc

t= 0.33 Myr

35y

0.2 pc

t= 0.33 Myr

35z

0.2 pc

t= 0.33 Myr



36X

0.2 pc

t= 0.33 Myr

36y

0.2 pc

t= 0.33 Myr

36z

0.2 pc

t= 0.33 Myr



40x

S

0.2 pc

t= 0.35Myr

40y

0.2 pc

t= 0.35 Myr

40z

0.2 pc

t= 0.35Myr



41x

St

0.2 pc

t= 0.35Myr

41y

0.2 pc

t= 0.35Myr

41z

0.2 pc

— *\

t= 0.35 Myr



42x

42y

0.4 pc

t= 0.35 Myr

ik

. 0.4 pc

t= 0.35 Myr



43x

0.2 pc

a

t= 0.35 Myr

43y

0.2 pc

t= 0.35 Myr

43z

0.2 pc

)

t= 0.35 Myr



44x

0.2 pc

t= 0.35Myr

44y

0.2 pc

t= 0.35 Myr

44z

0.2 pc

t= 0.35 Myr



45x

rat

0.2 pc

t= 0.35 Myr

45y

0.2 pc

t= 0.35 Myr

45z

.

0.2 pc

t= 0.35Myr



46X

L

0.2 pc

t= 0.35 Myr

46y

0.2 pc

t= 0.35 Myr

46z

0.2 pc

t= 0.35Myr



47x

0.2 pc

t= 0.35 Myr

47y

0.2 pc

t= 0.35 Myr

47z

0.2 pc

t= 0.35 Myr



48x

L

0.2 pc

t= 0.35 Myr

48y

0.2 pc

t= 0.35 Myr

48z

0.2 pc

t= 0.35 Myr



49x

Qa2.nc t = 0.37 Myr

49y

0.2 pc

t= 0.37 Myr

49z

0.2 pc

t= 0.37 Myr



1510)4

0.2 pc

t= 0.37 Myr

50y

0.2 pc

t= 0.37 Myr

15104

0.2 pc

t= 0.37 Myr



51x

0.2 pc

t= 0.37 Myr

YAV

0.2 pc

t= 0.37 Myr

51z

0.2 pc

t= 0.37 Myr



53x

0.2 pc

t= 0.37 Myr

53y

0.2 pc

t= 0.37 Myr

53z

0.2 pc

t= 0.37 Myr



54x

0.2 pc

t= 0.37 Myr

54y

0.2 pc

t= 0.37 Myr

54z

0.2 pc

t= 0.37 Myr



58x

0.2 pc

t= 0.39 Myr

58y

0.2 pc

t= 0.39 Myr

58z

0.2 pc

t= 0.39 Myr



(510)4

0.2 pc

t= 0.41 Myr

60y

0.2 pc

t= 0.41 Myr

60z

0.2 pc

t= 0.41 Myr



61x

0.2 pc

t= 0.43 Myr

6ly

0.2 pc

t= 0.43 Myr

61z

0.2 pc

t= 0.43 Myr



62X

.2 pc

t= 0.43 Myr

62y

0.2 pc

t= 0.43 Myr

622

|




63x

0.2 pc

t= 0.43 Myr

63y

0.2 pc

t= 0.43 Myr

63z

0.2 pc

t= 0.43 Myr



64x

0.2 pc

t= 0.43 Myr

64y

0.2 pc

t= 0.43 Myr

64z

0.2 pc

t= 0.43 Myr



65x

0.2 pc

t= 0.43 Myr

65y

0.2 pc

t= 0.43 Myr

65z

0.2 pc

t= 0.43 Myr



66X

0.2 pc

t= 0.43 Myr

66y

0.2 pc

t= 0.43 Myr

662

0.2 pc

t= 0.43 Myr



67X

0.2 pc

t= 0.46 Myr

YA

0.2 pc

t= 0.46 Myr

67z

0.2 pc

t= 0.46 Myr



68x

0.2 pc, -

'

t= 0.46 Myr

68y

0.2 pc

t= 0.46 Myr

0.2 pc

t= 0.46 Myr



69x

0.2 pc

-

t= 0.46 Myr

69y

0.2 pc

t= 0.46 Myr

69z

0.2 pc

t= 0.46 Myr



70x

0.2 pc

%

t= 0.46 Myr

70y

0.2 pc

t= 0.46 Myr

70z

0.2 pc

t= 0.46 Myr



72X

v |

t= 0.48 Myr

72y

722

0.2 pc

t= 0.48 Myr

0.2 pc

t= 0.48 Myr



73X

0.2 pc

t= 0.48 Myr

73y

0.2 pc t'=70.48 Myr

73z

0.2 pc

>

t = 0.48 Myr



74x

0.2 pc

t= 0.48 Myr

74y

0.2 pc

t= 0.48 Myr

74z

0.2 pc

t = 0.48 Myr



75x

0.2 pc

t= 0.48 Myr

0.2 pe t= 0.48 Myr




76X

0.2 pc

t= 0.52 Myr

76y

0.2 pc

t= 0.52 Myr

76z

0.2 pc

t = 0.52 Myr



77X

0.2 pc

t= 0.52 Myr

17y

0.2 pc

t= 0.52 Myr

77z

0.2 pc

t= 0.52 Myr



78x

0.2 pc

t= 0.52 Myr

78y

0.2 pc

t= 0.52 Myr

78z

0.2 pc

t= 0.52 Myr



79x

0.2 pc /

t= 0.54 Myr

79y

0.2 pc

t= 0.54 Myr

VASYA

0.2 pc

t= 0.54 Myr



81x

o.2£

t= 0.54 Myr

8ly

0.2 pc

t= 0.54 Myr

81z

0.2 pc

t= 0.54 Myr



83x

0.2 pc

t= 0.56 Myr

83y

0.2 pc

t= 0.56 Myr

83z

0.2 pc

t= 0.56 Myr



84x

0.2 pc ‘

t= 0.56 Myr

84y

0.2 pc

t= 0.56 Myr

84z

0.2 pc

t= 0.56 Myr



85x

0.2 pc

t= 0.59 Myr

85y

0.2 pc

t= 0.59 Myr

85z

0.2 pc

t= 0.59 Myr



86X

0.2 pc

t = 0.59 Myr

86y

0.2 pc

t= 0.59 Myr

86z

0.2 pc

t= 0.59 Myr



87x

0.2 pc

t= 0.61 Myr

87y

0.2 pc

t= 0.61 Myr

87z

0.2 pc

t= 0.61 Myr



89x

0.2 pc

t= 0.63 Myr

89y

0.2 pc

t= 0.63 Myr

89z

0.2 pc

t= 0.63 Myr



90x

t= 0.63 Myr

210)Y;

0.2 pc

t= 0.63 Myr

90z

0.2 pc

t= 0.63 Myr



91x

0.2 pc

-

= (ﬁSMyr

91y

_ i t= 0.65Myr

91z

0.2 pc

t= 0.65 Myr



92x

0.2 pc

t= 0.65 Myr

92y

0.2 pc

t= 0.65 Myr

92z

0.2 pc

t= 0.65 Myr



94x

0.4 pc

t= 0.65 Myr

94y

t= 0.65 Myr

94z

0.4 pc

t= 0.65 Myr



95x

0.2 pc

t= 0.65 Myr

95y

0.2 pc

t= 0.65 Myr

95z

0.2 pc

t= 0.65 Myr



96X

0.2 pc

t= 0.67 Myr

96y

0.2 pc

g
\‘
-

t= 0.67 Myr

96z

0.2 pc

t= 0.67 Myr



98x

9

0.2 pc

t= 0.67 Myr

98y

0.2 pc

#

t= 0.67 Myr

98z

0.2 pc

t= 0.67 Myr



99x

0.2 pc

t= 0.70 Myr

99y

99z




100x

&2 pc ' ' t = 0.70 Myr

0.2 pc

100z

0.2 pc

-~

-"i 0.70 Myr



t= 0.70 Myr t= 0.70 Myr t= 0.70 ﬁyr




t= 0.72 Myr

0.2 pc

t= 0.72 Myr

0.2 pC

L

-

¥

t= 0.72 Myr



103x

0.2 pc

‘ t= 0.72 Myr

0.2 pc

t= 0.72 Myr

0.2 pc

t= 0.72 Myr



104x

0.4 pc

~

t= 0.72 Myr

104y

0.4 pc

t= 0.72 Myr

104z

0.4 pc

t= 0.72 Myr



105x

0.4 pc

t= 0.72 Myr

105y

0.4 pc

t= 0.72 Myr

105z

0.4 pc

t= 0.72 Myr



106x 106y 106z

£
%

0.2 pc 0.2 pc

t= 0.74 Myr =L t= 0.74 Myr t= 0.74 Myr




108x

0.2 pc

108y

0.2 pc

. t= 0.74 Myr

0.2 pc




109x

0.2 pc

t= 0.74 Myr

109y

0.2 pc

t= 0.74 Myr

109z

0.2 pc

t= 0.74 Myr



110x 110y 110z

0.2 pc 0.2 pc

t= 0.74 Myr i Lids t= 0.74 Myr t= 0.74 Myr




111x

0.2 pc

t= 0.74 Myr

0.2 pc

t= 0.74 Myr

111z

0.2 pc

t= 0.74 Myr




113x

0.4 pc

t= 0.76 Myr

0.4 pc .,

t= 0.76 Myr

113z

0.4 pc

.

t= 0.76 Myr



114x 114y 114z

-

1
0-2 88 t= 0.76 Myr

~
0.2 pc t= 0.76 Myr 0.2 pc

t= 0.76 Myr




115x

0.2 pc

t= 0.76 Myr

115y

0.2 pc

t= 0.76 Myr

115z

0.2 pc

t= 0.76 Myr



116x

0.2 pc

t= 0.78 Myr

116y

0.2 pc

t= 0.78 Myr

116z

0.2 pc

t= 0.78 Myr



118x

0.2 pc

t= 0.78 Myr

118y

0.2 pc

t= 0.78 Myr

118z

0.2 pc

t= 0.78 Myr



119x

0.2 pc

t = 0.78 Myr

119y

0.2 pc

t= 0.78 Myr

0.2 pc

t= 0.78 Myr



120x

0.2 pc

L

¥
t= 0.78 Myr

120y

0.2 pc

t= 0.78 Myr

0.2 pc

t= 0.78 Myr



121x

0.2 pc

t= 0.80 Myr

121y

0.2 pc

t = 0.80 Myr

121z

0.2 pc

t= 0.80 Myr



122x

0.2 pc

t= 0.80 Myr

122y

0.2 pc

t= 0.80 Myr

122z

0.2 pc

t= 0.80 Myr



123x

0.2 pc

t= 0.83 Myr

123y

0.2 pc

t= 0.83 Myr

123z

0.2 pc

b

t= 0.83 Myr



124x

0.2 pc

t= 0.85 Myr

124y

0.2 pc

t= 0.85 Myr

124z

0.2 pc

t= 0.85 Myr



125x

0.2 pc

t= 0.85 Myr

125y

0.2 pc

t= 0.85 Myr

125z

0.2 pc

t= 0.85 Myr



126x

0.2 pc

t= 0.85 Myr

126y

0.2 pc

t= 0.85 Myr

126z

0.2 pc

t= 0.85 Myr



127x

0.2 pc

t= 0.85 Myr

127y

0.2 pc

t= 0.85 Myr

127z

0.2 pc

t= 0.85 Myr



128x

0.2 pc

t= 0.85 Myr

128y

0.2 pc

t= 0.85 Myr

128z

0.2 pc

t= 0.85 Myr



129x _

0-2pcH & t= 0.87 Myr

129y

0.2 pc

t= 0.87 Myr

129z

0.2 pc

A
o
-

t= 0.87 Myr



130x

0.2 pc

t= 0.87 Myr

130y

0.2 pc

t= 0.87 Myr

130z

0.2 pc

t= 0.87 Myr



131x

0.2 pc

t= 0.87 Myr

131y

0.2 pc

t= 0.87 Myr

131z

0.2 pc

t= 0.87 Myr



132X

0.2 pc

t= 0.87 Myr

132y

0.2 pc

t= 0.87 Myr

132z

0.2 pc

t= 0.87 Myr



133x

0.2 pc

t= 0.87 Myr

133y

0.2 pc

t= 0.87 Myr

133z

0.2 pc

t= 0.87 Myr



134x

0.2 pc

t= 0.89 Myr

134y

0.2 pc

rf

t= 0.89 Myr

134z

0.2 pc

t= 0.89 Myr



135x

0.2 pc

t= 0.89 Myr

135y

0.2 pc

t= 0.89 Myr

135z

0.2 pc

t= 0.89 Myr



136x

0.2 pc

t= 0.89 Myr

136y

0.2 pc

t= 0.89 Myr

136z

0.2 pc

t= 0.89 Myr



137x

0.2 pc

t= 0.89 Myr

137y

0.2 pc

-,

t= 0.89 Myr

137z

0.2 pc

t= 0.89 Myr



138x

0.4 pc

t= 0.91 Myr

138y

0.4 pc

t= 0.91 Myr

138z

0.4 pc

t= 0.91 Myr



139x

0.2 pc

t= 0.91 Myr

139y

0.2 pc

t= 0.91 Myr

139z

0.2 pc

t= 0.91 Myr



141x ' 141y 141z

0.2 pc 0.2 pc

t = 0.91 Myr P2 pc t = 0.91 Myr t = 0.91 Myr




142x

0.2 pc

t= 0.91 Myr

142y

0.2 pc

t= 0.91 Myr

142z

0.2 pc

t= 0.91 Myr



143x

0.2 pc

t= 0.91 Myr

143y

0.2 pc

t= 0.91 Myr

143z

0.2 pc

t= 0.91 Myr



144x

0.2 pc

t= 0.93 Myr

144y

0.2 pc

t= 0.93 Myr

144z

0.2 pc

t= 0.93 Myr



145x

0.2 pc

t= 0.93 Myr

145y

0.2 pc

t= 0.93 Myr

145z

0.2 pc

t= 0.93 Myr



146x

0.2 pc

t= 0.93 Myr

146y

0.2 pc

t= 0.93 Myr

146z

0.2 pc

t= 0.93 Myr



147x

0.2 pc

t= 0.96 Myr

147y

0.2 pc

t= 0.96 Myr

147z

0.2 pc

t= 0.96 Myr



148x

0.2 pc

t= 0.98 Myr

148y

0.2 pc

t= 0.98 Myr

148z

0.2 pc

t= 0.98 Myr



tié:x

0.2 pc

t= 1.00 Myr

149y

|-

0.2 pe t= 1.00 Myr

149z

0.2 pc

t= 1.00 Myr



150x

0.2 pc

t= 1.04 Myr

150y

0.2 pc

t= 1.04 Myr

150z

0.2 pc

t= 1.04 Myr



152x

0.2 pc

t= 1.06 Myr

152y

0.2 pc

t= 1.06 Myr

152z

0.2 pc

t= 1.06 Myr



153x 153y 153z

0.2 pc 0.2 pc

t= 1.06 Myr 0. 28 t= 1.06 Myr t= 1.06 Myr




154x

0.2 pc

t= 1.09 Myr

154y

0.2 pc

t= 1.09 Myr

154z

0.2 pc

t= 1.09 Myr



155x

0.4 pc

t= 1.09 Myr

155y

0.4 pc

155z

0.4 pc

t = 1.09 Myr t= 1.09 Myr




156x 156y 156z

A
.
=N
.

I“

0.2 pc. t= 1.09 Myr 0.2 pc

0.2 pe t= 1.09 Myr t= 1.09 Myr




157x

0.4 pc

t= 1.11 Myr

157y

0.4 pc

t= 1.11 Myr

157z

0.4 pc

t= 1.11 Myr



158x 158y 158z

0.2 pc 0.2 pc 0.2 pc

t= 1.11 Myr] t= 1.11 Myr t= 1.11 Myr




159x

0.2 pc

t= 1.13 Myr

159y

0.2 pc

t= 1.13 Myr

159z

0.2 pc

t= 1.13 Myr



160x

0.2 pc

t= 1.17 Myr

160y

0.2 pc

t= 1.17 Myr

160z

0.2 pc

t= 1.17 Myr



161x

0.2 pc

t= 1.17 Myr

161y

0.2 pc

t= 1.17 Myr

161z

0.2 pc

t= 1.17 Myr



165x

0.2 pc

&

t= 1.19 Myr

165y

0.2 pc

t= 1.19 Myr

165z

0.2 pc

t= 1.19 Myr



167x

0.2 pc

o ey o

t= 1.19 Myr

t= 1.19 Myr

167z

0.2 pc

t= 1.19 Myr



168x

0.2 pc

t= 1.22 Myr

168y

0.2 pc

t= 1.22 Myr

168z

0.2 pc

t= 1.22 Myr



169x

0.2 pc

t= 1.22 Myr

169y

0.2 pc

t= 1.22 Myr

169z

0.2 pc

t= 1.22 Myr



170x

0.2 pc

t= 1.22 Myr

170y

0.2 pc

=

t= 1.22 Myr

170z

0.2 pc

t= 1.22 Myr



171x

0.2 pc

t= 1.22 Myr

171y

0.2 pc

t= 1.22 Myr

171z

0.2 pc

t= 1.22 Myr



174x

0.2 pc

t= 1.26 Myr

174y

0.2 pc

t= 1.26 Myr

174z

0.2 pc

e ¥

t= 1.26 Myr



175x

0.2 pc

t= 1.28 Myr

175y

0.2 pc

t= 1.28 Myr

175z

0.2 pc

t= 1.28 Myr



176x

0.2 pc

4

t= 1.28 Myr

176y

0.2 pc

t= 1.28 Myr

176z

0.2 pc

t= 1.28 Myr



177x

0.2 pc

2

t= 1.28 Myr

177y

0.2 pc

t= 1.28 Myr

177z

0.2 pc

t= 1.28 Myr



178x

-

~~

. W )

020

t= 1.30 Myr

0.2 pc

t= 1.30 Myr

178z

-

0.2 pc

S

t= 1.30 Myr



179x

0.2 pc

t= 1.30 Myr

179y

0.2 pc

t= 1.30 Myr

179z

0.2 pc

t= 1.30 Myr



180x

0.2 pc

t= 1.32 Myr

180y

o

0.2 pc

t= 1.32 Myr

180z

0.2 pc

t= 1.32 Myr



181x

0.2 pc

t= 1.35 Myr

‘ 181y

0.2 pc

t= 1.35 Myr

181z

0.2 pc

.

t= 1.35Myr



182x

0.4 pc

t= 1.35 Myr

182y

0.4 pc

t= 1.35 Myr

182z

0.4 pc

t= 1.35 Myr



0.2 pc

: ' t= 1.35Myr 0- 3¢ © t= 1.35Myr t= 1.35Myr




185x

0.2 pc

t= 1.39 Myr

185y

0.2 pc

t= 1.39 Myr

185z

-

0.2 pc

t= 1.39 Myr



t= 1.41 Myr

0.2 pc

0.2 pc

t= 1.41 Myr t= 1.41 Myr




187x

0.2 pc

t= 1.41 Myr

0.2 pc

t= 1.41 Myr

187z

0.2 pc

t= 1.41 Myr



189x

0.2 pc

t= 1.41 Myr

0.2 pc

t= 1.41 Myr

189z

0.2 pc

t= 1.41 Myr



191x

0.2 pc

t= 1.46 Myr

191y

0.2 pc

t= 1.46 Myr

191z

0.2 pc

t= 1.46 Myr



192x

0.2 pc

t = 1.48 Myr

192y

0.2 pc

AR

t= 1.48 Myr

192z

0.2 pc

t= 1.48 Myr



194x

0.2 pc

t= 1.48 Myr

0.2 pc

t= 1.48 Myr

194z

0.2 pc

t= 1.48 Myr



195x

0.2 pc

t = 1.48 Myr

195y

0.2 pc

D

t = 1.48 Myr

195z

0.2 pc

L

t= 1.48 Myr



196x

0.2 pc

t = 1.48 Myr

196y

0.2 pc

| YR

t= 1.48 Myr

196z

0.2 pc

t= 1.48 Myr



0.2 pc

t= 1.48 Myr t= 1.48 Myr t= 1.48 Myr




199x

0.2 pc

-atr

t= 1.50 Myr

199y

0.2 pc

t= 1.50 Myr

199z

0.2 pc

t= 1.50 Myr



200x

0.2 pc

t= 1.50 Myr

200y

0.2 pc

t= 1.50 Myr

200z

0.2 pc

t= 1.50 Myr



201x

t= 1.50 Myr

0.2 pc

t= 1.50 Myr t= 1.50 Myr




202x

0.2 pc

t= 1.50 Myr

202y

0.2 pc

t= 1.50 Myr

202z

0.2 pc

t= 1.50 Myr



203

0.4 pc

t= 1.52 Myr

203z

0.4 pc




204x

t= 1.52 Myr

0.4 pc

t= 1.52 Myr

204z

0.4 pc

t= 1.52 Myr



205x

0.2 pc

t= 1.54 Myr

205y

0.2 pc

t= 1.54 Myr

205z

0.2 pc

t= 1.54 Myr



0.2 pc

t= 1.54 Myr

0.2 pc

t= 1.54 Myr



207x pAYAY 207z

0.2 pc

\ A
at = 1.56 Myr 0.2 pe t= 1.56 Myr 0.2 pe t = 1.56 Myr




208X

0.2 pc

t= 1.56 Myr

208y

0.2 pc

¥

t= 1.56 Myr

208z

0.2 pc

t= 1.56 Myr



209x

0.2 pc

209y

0.2 pc

t= 1.59 Myr

0.2 pc

t= 1.59 Myr



210x

0.2 pc

210y

0.2 pc

t= 1.59 Myr

0.2 pc

t= 1.59 Myr



212x

0.2 pc

t= 1.59 Myr

0.2 pc

t= 1.59 Myr



0.4 pc

t= 1.59 Myr

0.4 pc

t= 1.59 Myr

213z

.

e

0.4 pe t = 1.59 Myr




214x 214y

0.2 pc

0.2 pc

t= 1.59 Myr t= 1.59 Myr




216x

0.2 pc

t= 1.61 Myr

216y

0.2 pc

t= 1.61 Myr

216z

0.2 pc

t= 1.61 Myr



PARS)

0.2 pc

t= 1.61 Myr

218y

0.2 pc

t= 1.61 Myr

218z

0.2 pc

PN

t= 1.61 Myr



219x

0.2 pc

t= 1.61 Myr

219y

0.2 pc

t= 1.61 Myr

219z

0.2 pc

t = 1.61 Myr



221x

0.2 pc

t= 1.63 Myr

221y

0.2 pc

e

t= 1.63 Myr

221z

0.2 pc

t= 1.63 Myr



222X

2

0.2 pc

t= 1.63 Myr

222y

0.2 pc

t= 1.63 Myr

222z

0.2 pc

K

t= 1.63 Myr



223X

0.2 pc

t= 1.65 Myr

0.2 pc

t= 1.65 Myr

223z

0.2 pc

t= 1.65 Myr



224x

0.2 pc

t= 1.65 Myr

224y

0.2 pc

t= 1.65 Myr

224z

0.2 pc

t= 1.65 Myr



225X

0.2 pc

t= 1.65 Myr

225y

0.2 pc

t= 1.65 Myr

225z

0.2 pc

t= 1.65 Myr



226X

0.2 pc

t= 1.67 Myr

226y

0.2 pc

t= 1.67 Myr

226z

0.2 pc

t= 1.67 Myr



228x 228z

0.2 pc 0.2 pc

0.2 pc

t= 1.69 Myr t= 1.69 Myr




229x

0.2 pc

t= 1.69 Myr

229y

0.2 pc

a

t= 1.69 Myr

229z

0.2 pc

t= 1.69 Myr



t= 1.72 Myr t= 1.72 Myr




231x 231z

0.2 pc 0.2 pc

t= 1.72 Myr t= 1.72 Myr




t= 1.72 Myr t= 1.72 Myr




&

B
_o.zm‘lt = 1.74 Myr

0.2 pc

0.2 pc

t= 1.74 Myr t= 1.74 Myr




234x

0.2 pc

t= 1.76 Myr

234y

0.2 pc

t= 1.76 Myr

234z

0.2 pc

t= 1.76 Myr



235x

235y

t= 1.76 Myr



t= 1.76 Myr




237x

0.2 pc

t= 1.76 Myr

0.2 pc

t= 1.76 Myr



238x

0.2 pc

t= 1.78 Myr

238y

0.2 pc

t= 1.78 Myr

238z

0.2 pc

t= 1.78 Myr



t= 1.78 Myr t= 1.78 Myr

- - - | | | |




240x

0.2 pc

Y t= 1.78 Myr

240y

0.2 pc

t= 1.78 Myr

0.2 pc

\e

t= 1.78 Myr



242x

t= 1.78 Myr

0.2 pc

0.2 pc

t= 1.78 Myr t= 1.78 Myr




243x

t= 1.78 Myr

0.2 pc

0.2 pc

t= 1.78 Myr t= 1.78 Myr




244x

t:—- .1.78 Myr

0.2 pc

0.2 pc

t= 1.78 Myr

t= 1.78 Myr



245x | 245y -

t= 1.78 Myr ~ t= 1.78 Myr




t= 1.78 Myr

0.2 pc

t= 1.78 Myr

246z

0.2 pc

t= 1.78 Myr



247X 247y
Fig

t= 1.78 Myr t= 1.78 Myr




248x 248y -

t= 1.78 Myr ~ t= 1.78 Myr




) ~
\) \
0.2 pc ‘ E t= 1.78 Myr 0.2 pc

t= 1.78 Myr

249z

0.2 pc

t= 1.78 Myr



252x . 252y

t= 1.80 Myr t= 1.80 Myr




253x 253y P //'

t= 1.80 Myr t= 1.80 Myr




254x

0.2 pc

t= 1.80 Myr

254y

0.2 pc

t= 1.80 Myr

254z

0.2 pc

t= 1.80 Myr



255X

0.2 pc

t= 1.80 Myr

255y

0.2 pc

t= 1.80 Myr

255z

0.2 pc

t= 1.80 Myr



258x

0.2 pc

t= 1.82 Myr

258y

0.2 pc

t= 1.82 Myr

258z

0.2 pc

t= 1.82 Myr



260x

0.2 pc

t= 1.82 Myr

260y

0.2 pc

t= 1.82 Myr

260z

0.2 pc

t= 1.82 Myr



263x

0.2 pc

263y

263z

t= 1.85myr |

0.2 pc




264x

t= 1.85 Myr

t= 1.85 Myr



266x

0.2 pc

t= 1.87 Myr

t t= 1.87 Myr



PAY

0.2 pc

t= 1.87 Myr

t t= 1.87 Myr



0.2 pc

t= 1.87 Myr
-

t= 1.87 Myr

0.2 pc

t= 1.87 Myr



269x

0.2 pc

t= 1.87 Myr

t= 1.87 Myr



270x

0.2 pc

t= 1.87 Myr

270y

0.2 pc

t= 1.87 Myr

270z

0.2 pc

t= 1.87 Myr



273X

0.4 pc

t= 1.89 Myr

273y

0.4 pc

t= 1.89 Myr

273z

0.4 pc

t= 1.89 Myr



274x

t= 1.91 Myr t= 1.91 Myr




275X

0.2 pc

t= 1.93 Myr

275y

0.2 pc

t= 1.93 Myr

275z

0.2 pc

‘
B

t= 1.93 Myr



‘ = 1.93 Myr




277X

0.2 pc

t= 1.95 Myr

277y

0.2 pc

t= 1.95 Myr

277z

0.2 pc

t= 1.95 Myr



278x

B t= 1.95 Myr t= 1.95 Myr t= 1.95 Myr




t= 1.95 Myr

t= 1.95 Myr

0.2 pc




280x

t= 1.95 Myr

280y

t= 1.95 Myr

t= 1.95 Myr



t= 1.95Myr ; «< t= 1.95Myr

| | LY



0.2 pc

t= 1.98 Myr t= 1.98 Myr t= 1.98 Myr




283X

0.2 pc

t= 1.98 Myr

283y

0.2 pc

t= 1.98 Myr

283z

0.2 pc

s

t= 1.98 Myr



284x

0.2 pc

t= 2.00 Myr

284y

0.2 pc

t= 2.00 Myr

284z

0.2 pc

t = 2.00 Myr



285X ) 285y

0.2 pc

0.2 pc

t= 2.00 Myr t= 2.00 Myr




286X

0.2 pc

t= 2.00 Myr

286y

0.2 pc

t = 2.00 Myr

286z

0.2 pc

t = 2.00 Myr



PAT

0.2 pc

t= 2.00 Myr

287y

0.2 pc

t= 2.00 Myr

287z

0.2 pc

t= 2.00 Myr



288x

0.2 pc

t = 2.00 Myr

288y

0.2 pc

t= 2.00 Myr

288z

0.2 pc

t = 2.00 Myr



‘ SN A
_ﬁc_ t= 2.02 Myr gFre t= 2.02 Myr 0% P t= 2.02 Myr




290y

- t= 2.04 Myr




291x

0.2 pc

t= 2.04 Myr

291y

0.2 pc

t= 2.04 Myr

291z

0.2 pc

t= 2.04 Myr



0.2 pc

t= 2.04 Myr t= 2.04 Myr




293x

0.2 pc

t= 2.04 Myr

293y

0.2 pc

t= 2.04 Myr

293z

0.2 pc

t= 2.04 Myr



294x

0.2 pc

t= 2.09 Myr

294y

0.2 pc

t = 2.09 Myr

294z

0.2 pc

o

s
t= 2.09 Myr.



295x

0.2 pc

t= 2.09 Myr

295y

0.2 pc

A%

“t=2.09 Myr

a0

295z

0.2 pc

‘.
t= 2.09 Myr
d



t= 2.09 Myr




297x -

0.2 pe t= 2.09 Myr

0.2 pc

(‘f‘

“t=.2.00 Myr

‘e

297z

0.2 pc

»
t= 2.09 Mxr-‘.



299y

0.2 pc




301x

0.2 pc

t= 2.11 Myr

301y

0.2 pc

>

t= 2.11 Myr

301z

0.2 pc

t= 2.11 Myr



302y 302z

-

.

( : 4!"‘-\
-t

t= 2.11 Myr




t=
2.11 Myr

Y
Y




304x

0.2 pc

t= 2.11 Myr

304y

0.2 pc

.

t= 2.11 Myr

304z

0.2 pc

[

=

= 2.11 Myr



305x

0.2 pc

2 'y

t= 2.13 Myr

305y

0.2 pc

=

t= 2.13 Myr

305z

0.2 pc

t= 2.13 Myr



306x

0.2 pc

t= 2.13 Myr

306y

0.2 pc

t= 2.13 Myr

306z

0.2 pc

t= 2.13 Myr



~

= 2.13Myr |

t= 2.13 Myr

0.2 pc




309x

0.2 pc

t= 2.15 Myr

309y

0.2 pc

t= 2.15 Myr

309z

0.2 pc

t= 2.15 Myr



310x

0.4 pc

t= 2.15 Myr

310y

0.4 pc

t= 2.15 Myr

310z

0.4 pc

t= 2.15 Myr



311x

0.2 pc

t= 2.15 Myr

311y

0.2 pc

t= 2.15 Myr

311z

—

0.2 pc

t= 2.15 Myr



312x

0.2 pc

t= 2.15 Myr

312y

0.2 pc

t= 2.15 Myr

312z

0.2 pc

t= 2.15 Myr



0.2 pc

t= 2.17 Myr t= 2.17 Myr







315y

'
Al W= 2.17 Myr 0 t= 2.17 Myr




t= 2.17 Myr







neg’

-

=P \ t= 2.17 Myr

) A

t= 2.17 Myr




319x

0.2 pc

t= 2.17 Myr

319y

0.2 pc

t= 2.17 Myr

319z

0.2 pc

t= 2.17 Myr



0.2 pc

t= 2.19 IM_




321x

0.2 pc

t= 2.19 Myr

321y

0.2 pc

t= 2.19 Myr

321z

0.2 pc

t= 2.19 Myr



4. &
s t= 2.19 Myr

t= 2.19 Myr




t= 2.19 Myr




> | |
324x " 324y 324z

t= 2.19 Myr




t= 2.22 Myr




0.2 pc

0.2 pc

t= 2.24 Myr t= 2.24 Myr




0.2 pc

t= 2.24 Myr t= 2.24 Myr




8"

T\

i—i ; l i g 5
\\0.2pc t= 2.24 Myr ,/ 0.2 pc




332x

0.2 pc

t= 2.26 Myr!

332y

0.2 pc

t = 2.26 Myr

332z

0.2 pc

L N

t= 2.26 Myr



333x

0.2 pc




0.2 pc -
- t= 2.26 Myr




335x

0.2 pc

&
t= 2.26 Myr

335y

0.2 pc

t= 2.26 Myr

0.2 pc

t= 2.26 Myr



t= 2.28 Myr

336z







338x 338z

0.2 pc




339x

0.2 pc

t = 2.30 Myr

339y

0.2 pc

t= 2.30 Myr

339z

0.2 pc

t= 2.30 Myr






341x

0.2 pc

t = 2.30 Myr

341y

0.2 pc

t= 2.30 Myr

341z

0.2 pc

t= 2.30 Myr



0.2 pc

0.2 pc

0.2 pe t= 2.30 Myr

t= 2.30 Myr t= 2.30 Myr







. . | | | |
345x 345y 345z




0.2 pc

t= 2.30 Myr

S

0.2 pc

- &

t= 2.30 Myr

t= 2.30 Myr



347x

0.2 pc




. . | | | |
348x 348y 348z




349x

0.2 pc

-

t= 2.30 Myr

349y

0.2 pc

t= 2.30 Myr

349z

0.2 pc

t= 2.30 Myr



350x

0.2 pc

t= 2.30 Myr

350y

0-28¢ t= 2.30 Myr

350z

0.2 pc

t= 2.30 Myr






0.2 pc

0.2 pc

t= 2.32 Myr t= 2.32 Myr t= 2.32 Myr




0.2 pc

0.2 pc

t= 2.32 Myr t= 2.32 Myr t= 2.32 Myr




354x

0.2 pc

SN

t= 2.32 Myr

354y

0.2 pc

t= 2.32 Myr

354z

%ch

t= 2.32 Myr



”4\3 -

t= 2.32 Myr ) 2.32 My  t= 232 Myr




356x

»,

0.2 pc

t= 2.32 Myr

356y

0.2 pc

t= 2.32 Myr

356z

3

2 pc

t= 2.32 Myr






0.2 pc

0.2 pc

t= 2.35 Myr t= 2.35 Myr t= 2.35 Myr




0.4 pc 0.4 pc

t= 2.35 Myr




361x

0.2 pc

t= 2.35 Myr

361y

0.2 pc

t= 2.35 Myr

361z

0.2 pc

t= 2.35 Myr






364x

0.2 pc

t= 2.35 Myr

364y

0.2 pc

t= 2.35Myr

364z

0.2 pc

2 x

t= 2.35 Myr



365x

0.2 pc

t= 2.37 Myr

365y

0.2 pc

t= 2.37 Myr

365z

0.2 pc

t= 2.37 Myr



366x

0.2 pc

t ='2.37 Myr

366y

0.2 pc

t= 2.37 Myr

366z

0.2 pc

t= 2.37 Myr



367z

0.2 pc

t= 2.37 Myr t= 2.37 Myr t= 2.37 Myr




0& 0.2 pc

t= 2.37 Myr







370x

t= 2.41 Myr t= 2.41 Myr




t= 2.41 Myr




02 pg t= 2.41 Myr

N



t= 2.41 Myr

- ‘ \ " /
:
\
¢
’
0-Zypc t= 2.41 Myr




t= 2.41 Myr

- ‘ \ " /
:
\
¢
’
0-Zypc t= 2.41 Myr













378x

\r&—

t= 2.43 Myr

0.2 pc

t= 2.43 Myr







382x

0.2 pc

t= 2.45 Myr

382y

0.2 pc

t= 2.45 Myr

382z

0.2 pc

t= 2.45 Myr



384x

0.2 pc

t= 2.45 Myr

384y

0.2 pc

t= 2.45 Myr

384z

0.2 pc

t= 2.45 Myr



t= 2.45 Myr t= 2.45 Myr




386x

0.2 pc

t= 2.48 Myr

386y

0.2 pc

t = 2.48 Myr

386z

0.2 pc

t= 2.48 Myr



t= 2.48 Myr 02pC t = le,Myr







2.48 Myr




t= 2.48 Myr




PP t = 2.50 Myr 0.4 pe
V. N |

0.4 pc

t= 2.50 Myr t= 2.50 Myr




2.50 Myr




t = 2.50 Myr - t= 2.50 MyrI




395x

0.2 pc

t= 2.50 Myr

395y

0.2 pc

t= 2.50 Myr

395z

0.2 pc

t= 2.50 Myr



396z

0.2 pc 0.2 pc

t= 2.52 Myr




\ p,
t= 2.52 Myr

0.2 pe t= 2.52 Myr




398z

0.2 pc

: 0 2"’J ’
t= 2.52 Myr t= 2.52 Myr ;pc\.% 2.52 Myr







0.2 pc

t= 2.54 Myr

403z

0.2 pc




t= 2.54 Myr




405x

0.2 pc

t= 2.56 Myr

405y

0.2 pc

t= 2.56 Myr

405z

0.2 pc

t= 2.56 Myr



406X K
‘ ~
4
4
‘ -
0.2 pc t = 2.56 Myr t= 2.56 Myr t = 2.56 Myr







410x

0.2 pc

t= 2.56 Myr

410y

0.2 pc

t= 2.56 Myr

410z

0.2 pc

t= 2.56 Myr



411x

0.4 pc

t= 2.58 Myr

411y

0.4 pc

t= 2.58 Myr

411z

0.4 pc

t= 2.58 Myr



0.2 pc

t= 2.58 Myr

t= 2.58 Myr

,‘

v

t= 2.58 Myr



